
COMMERCIAL WARRANTY 
 
This product is warranted by BRANICK INDUSTRIES, INC. to the original 
user-owner against defective materials or workmanship for a period of one 
year from the date of shipment. During the warranty period, at the discretion 
of Branick management, if the product is found to be defective, it will be 
repaired or replaced without charge. For service, contact Branick (800-437-
4394) to obtain an RMA. Any product shipped to Branick must have an RMA 
and proof of original shipment date. The repaired or replacement product will 
be returned with transportation charges prepaid by Branick. 
 
This warranty does not cover defects in the product caused by ordinary wear 
and tear, abuse, misuse, overloading, accident (including shipping damage), 
improper maintenance, alteration, or any other cause not the result of 
defective materials or workmanship. 
 
REPAIR OR REPLACEMENT IS THE EXCLUSIVE REMEDY FOR 
DEFECTIVE PRODUCT UNDER THIS WARRANTY. THIS WARRANTY IS 
EXPRESSLY IN LIEU OF ALL OTHER WARRANTIES, INCLUDING ANY 
IMPLIED WARRANTY OF MERCHANT ABILITY OR ANY IMPLIED 
WARRANTY OF FITNESS FOR A PARTICULAR PURPOSE OF THIS 
PRODUCT. BRANICK INDUSTRIES, INC. SHALL NOT BE LIABLE FOR 
ANY CONSEQUENTIAL OR INCIDENTAL DAMAGES. 
 
BRANICK INDUSTRIES, INC. reserves the right to make changes in the 
design or construction of our products without obligation to incorporate such 
changes in products already sold and without notice. 
 
Service parts and regular repair service are available from authorized 
distributors of Branick products, or from: 
 
 
BRANICK INDUSTRIES, INC. 
4245 Main Ave. 
Fargo, North Dakota 58103 
Toll Free: 800-437-4394 

 
 
 
 
 
 

 
 

© Copyright 2021 by Branick Industries, Inc            www.branick.com.                Printed in U.S.A                                                                                                                                                      
 

     
     MODEL 135  Operation & 
     PORTABLE  Repair Parts 
    AIRSTATION  Information 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
REV041719           81-0281A 
 

 



 Power Requirements & Charging Instructions  
 
▪ The system is powered by a 12 volt rechargeable battery.  
▪ Charge the airstation by connecting the power cord into the charger 

socket on the back of the unit and plugging the other end into a 
110/120 volt outlet. 

NOTE: Under no circumstances should the battery be left in the flat state 
designated by a blank display or diagnostic code “LO”. 

▪ Charging a completely flat battery could take up to 7 hours to obtain a 
full charge. 

▪ The length of battery charge is dependent upon many factors including 
use, how often charged, etc. Once fully charged, the system should 
provide up to 8 hours of continuous use.  

 
 

Service Parts 
ITEM  QTY PART NO. DESCRIPTION 

1 1 01-0265 HANDLE WITH THREADED INSERT 

2 1 02-0023 BLOCKHEAD INFLATOR (w/HARNESS) 

3 4 10-0032 RUBBER BUMPER 

4 4 028-155 10-24 X 5/8” RD HD SCREW 

5 1 40-0064 12V CHARGER 

6 1 40-0076 12V BATTERY 

7 1 41-0042 ON/OFF ROCKER SWITCH 

8 1 42-0023 6' POWER CORD 

9 1 43-0048 POWER ENTRY MODULE 

10 2 50-0077 3/8-16 X 3/4" SBHC SCREW 

11 6 50-0125 1/4-20 X 5/8” SOC BTN HC SCREW 

12 2 50-0140 #10-24 X 1/2" FLAT HD C'SUNK MACH SCREW 

13 10 055-127 #10-24 HEX LOCK NUT 

14 2 055-160 1/4-20 HEX LOCK NUT 

15 1 59-0085 VELCRO BATTERY STRAP 

16 2 60-0191 3/8” TB X 1/4" NPT M CONN FITTING 

17 2 60-0192 1/4" NPT X 3/4-16 STR BHD FITTING 

18 2 60-0231 3/8” X 1/4" NPT 90° SWL ELBOW FITTING 

19 1 60-0320 CLIP-ON CHUCK (OPEN) 

20 1 62-0044 1/4" NPT X 10' RECOIL HOSE 

21 1 72-0251 FLANGED CHARGER TRAY 

22 1 72-0437 INFLATOR BRACKET 

23 1 72-0491 PORTABLE TOP PANEL 

24 1 72-0492 PORTABLE BOTTOM PANEL 

25 1 72-0517 BATTERY TRAY 

26 1 60-0194 1/4" NPT BRASS ELBOW 

27 4 108-110 1/4" SAE FLAT WASHER 

28 1 932-001 IN-LINE FILTER 

29 1 D20-006 3/8" O.D. NYLON TUBE (BLACK) 

 
 

Service Parts Diagram 
 
 
 

 

 
 
 


